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. BLEWA |ReAZERRBNE 238 | 238
112/01/06 |F= Bk 17300 (112E100000001 00010948
112/01/06 |V TiE8E EERER 3000 |112E100000002 00010976

2 LR AZERRENE 238 | 238
112/01/07 |&EF Rk 3000 [112E100000003 00010961
112/01/09 |[FHIRZE Rk 9000 [112E100000004 00010949
112/01/09 |FFEE EBRER 300 |112E100000005 00011032

s R AZERRENE 238 | 238
112/01/10 |BR5RHEZE Rk 1750 (112E100000006 00011046
112/01/10 |#=% BRI 300 112E100000007 00011033

g ERERZEZEER 238 | 238
112/01/11 [Tl Z= Bk 500 112E100000008 00010826

5 ERERZEZEER 238 | 238
112/01/11 |[EF& Z= Bk 300 112E100000009 00010827

10 ERERZEZEER 238 | 238
112/01/11 [BR5RFEB Z= Bk 800 112E100000010 00010828

N ERERZEZEER 238 | 238
112/01/11 |BR#ETT Z= Bk 100 112E100000011 00010829

N ERERZEZEER 238 | 238
112/01/11 |SE= Z= Bk 1000 |112E100000012 00010830

12 ERERZEZEER 238 | 238
112/01/11 [5RIBE Z= Bk 2000 |112E100000013 00010831

14 ERERZEZEER 238 | 238
112/01/11 |B83% Z= Bk 300 112E100000014 00010832

15 ERERZEZEER 238 | 238
112/01/11 |2)Ei2 Z= Bk 1000 |112E100000015 00010833

16 ERERZEZEER 238 | 238
112/01/11 |[EIE%R Z= Bk 300 112E100000016 00010834
112/01/11 |B|E4m Z= Bk 300 112E100000017 00010835

18 ERFAZERREN 238 | 238
112/01/11 [#07KF] Z= Bk 300 112E100000018 00010836

19 ERFAZERREN 238 | 238
112/01/11 |BAURE Z= Bk 300 112E100000019 00010837

20 ERFAZERREN 238 | o238
112/01/11 |E=y0EE Z= Bk 300 112E100000020 00010838

21 ERFAZERREN 238 | o238
112/01/11 |BEshi® Z= Bk 300 112E100000021 00010839

» ERERZEZEER 238 | 238
112/01/11 |EE Z= Rk 200 112E100000022 00010840
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112/01/11 |EEE Z= Bk 300 |112E100000023 00010841
EREIARZERXRIBER
24 et \ 238 238
112/01/11 |E#H# Z= Bk 300 |112E100000024 00010842
112/01/11 |Z={mHH Z= Bk 500 |112E100000025 00010843
26 EREIRZEZRRIBER 238 238
112/01/11 |EiRE Z= Bk 1000 |112E100000026 00010844
27 EREIRZERRIBER 238 238
112/01/11 |3ER3 Z= Bk 500 |112E100000027 00010845
o8 EREIRZERRIBER 238 238
112/01/11 |&EWE8 Z= Bk 300 |112E100000028 00010846
29 EREIRZERRIBER 238 238
112/01/11 |EE40 Z= Bk 300 |112E100000029 00010847
EREIRZERRIBER
30 e \ 238 238
112/01/11 |ZEZZ5 Z= Bk 1000 |112E100000030 00010848
31 ERRIAZEREIER 238 238
112/01/11 |FR#4CHE Z= Bk 500 |112E100000031 00010849
32 ERRIAZEREIER 238 238
112/01/11 |EEE Z= Bk 300 |112E100000032 00010850
13 ERRIAZEREIER 238 238
112/01/11 |FR=3E Z= Bk 1000 |112E100000033 00010851
24 ERRIAZEREIER 238 238
112/01/11 |E=m& Z= Bk 300 |112E100000034 00010852
ERRIAZEREIER
35 D \ 238 238
112/01/11 |&RBE Z= Bk 500 |112E100000035 00010853
ERRIAZEREIER
36 - ! 238 238
112/01/11 |&TF Z= Bk 1000 |112E100000036 00010854
112/01/11 |Z=HE= Z= Bk 1000 |112E100000037 00010855
112/01/11 |EBREX Z= Bk 1000 |112E100000038 00010856
112/01/11 |EXFE Z= Bk 300 |112E100000039 00010857
112/01/11 |$8IBE Z= Bk 1000 |112E100000040 00010858
o = R wan SAESB=EZ
112/01/11 |E=E Z= Bk 500 |112E100000041 00010859
112/01/11 |BIE& Z= B 500 |112E100000042 00010860
112/01/11 |2I1Z %) Z= Bk 200 |112E100000043 00010861
112/01/11 ;184 Z= Bk 500 |112E100000044 00010862
112/01/11 |=FE Z= Bk 1000 [112E100000045 00010863
112/01/11 |E2E[&E Z= Bk 100 [112E100000046 00010864




HEf : 112/01/01~112/03/31

HRFT - EEfR O BT

WHELE NEV R SR B

112/01/11 |#MI& Z= Bk 300 |112E100000047 00010865
EREIARZERXRIBER
48 s \ 238 238
112/01/11 |BR~F&# Z= Bk 500 |112E100000048 00010866
112/01/11 |# B3R Z= Bk 600 |112E100000049 00010867
50 EREIRZEZRRIBER 238 238
112/01/11 |#MHE Z= Bk 500 |112E100000050 00010868
51 EREIRZERRIBER 238 238
112/01/11 |Ke&S Z= Bk 500 |112E100000051 00010869
EREIRZERRIBER
52 \ 238 238
112/01/11 |faI3Z& Z= Bk 1000 |112E100000052 00010870
EREIRZERRIBER
53 o \ 238 238
112/01/11 |2¥ Z=Bt 500 |112E100000053 00010871
54 EREIRZERRIBER 238 238
112/01/11 [FHA80E Z= Bk 500 |112E100000054 00010872
EREIAZEXREEBF
55 . \ 238 238
112/01/11 (a5 Z= Bk 500 |112E100000055 00010873
56 EREIAZEXREEBF 238 238
112/01/11 [fk/= Z= Bk 500 |112E100000056 00010874
EREIAZEXREEBF
57 = \ 238 238
112/01/11 |FRxISE Z= Bk 500 |112E100000057 00010875
EREIAZEXREEB
58 S \ 238 238
112/01/11 |Z%5E Z= Bk 300 |112E100000058 00010876
EREIAZEXREEBF
59 o \ 238 238
112/01/11 |2FkZ5 Z= Bk 300 |112E100000059 00010877
EREIAZEZXREEB
60 e ‘ 238 238
112/01/11 |#k=EE Z= Bk 1000 |112E100000060 00010878
112/01/11 |FxX & Z= Bk 300 |112E100000061 00010879
EREIAZEREEBH
62 e . 238 238
112/01/11 |FRE = Z= Bk 800 |112E100000062 00010880
EREIAZEZXREEB
63 o ‘ 238 238
112/01/11 |2EE Z= Bk 600 |112E100000063 00010881
112/01/11 BB Z= B 300 |112E100000064 00010882
ERFRIAZEREEBR
65 . ‘ 238 238
112/01/11 |EEtaEE Z= B 500 |112E100000065 00010883
ERFRIAZEREEBR
66 - ‘ 238 238
112/01/11 Bz Z= Bk 500 |112E100000066 00010884
ERFRIAZEREEBR
67 n . 238 238
112/01/11 |5EEE Z= B 300 |112E100000067 00010885
ERFRIAZEREEBR
68 o X 238 238
112/01/11 |2EE Z= Bk 500 |112E100000068 00010886
ERFRIAZEREEBR
69 e ‘ 238 238
112/01/11 |FEBE =B 500 |112E100000069 00010887
EREEE |ERFRAZEREBR
70 = \ 238 238
112/01/11 [PRAT Z= Bk 500 |112E100000070 00010888
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7 AR ISE AV Eﬁﬁﬁé%zfﬁﬁécg%\ 238 238
112/01/11 | Z= Bk 600 |112E100000071 00010889
112/01/11 |EP&EZE Z= Bk 300 |112E100000072 00010890
112/01/11 |B%EZE Z= Bk 100 [112E100000073 00010891

74 EREIRZEZRRIBER 238 238
112/01/11 | T =4 Z= Bk 300 |112E100000074 00010892

75 EREIRZERRIBER 238 238
112/01/11 |=FAE Z= Bk 300 |112E100000075 00010893

76 EREIRZERRIBER 238 238
112/01/11 |EHH Z= Bk 500 |112E100000076 00010894

77 EREIRZERRIBER 238 238
112/01/11 |EEE Z= Bk 300 |112E100000077 00010895

8 EREIRZERRIBER 238 238
112/01/11 |(BIFZE Z= Bk 2000 |112E100000078 00010896

79 ERRIAZEREIER 238 238
112/01/11 |FREK Z= Bk 2000 |112E100000079 00010897

80 ERRIAZEREIER 238 238
112/01/11 |EEEEH Z= Bk 500 |112E100000080 00010898

81 ERRIAZEREIER 238 238
112/01/11 |EZER Z= Bk 500 |112E100000081 00010899

82 ERRIAZEREIER 238 238
112/01/11 |faIE& Z= Bk 300 |112E100000082 00010900

83 ERRIAZEREIER 238 238
112/01/11 |ZBER Z= Bk 500 |112E100000083 00010901
112/01/11 |3RERE Z= Bk 300 |112E100000084 00010902

85 BEmEXRE |[EHRAZEXRRBER 238 238
112/01/11 |3BFR Z= Bk 500 |112E100000085 00010903
112/01/11 |ZEIwmX Z= Bk 1000 |[112E100000086 00010904

ERRIAZEREIEBER

87 e ! 238 238

112/01/11 |EFE Z= Bk 3000 |112E100000087 00010905
EHRIARZEREIBER

88 e X 238 238

112/01/11 &&=k Z= B 500 |112E100000088 00010906
o = R wan SAESB=EZ

112/01/11 |2#BF Z= B 300 |112E100000089 00010907
EHRIAZEREIBER

90 — X 238 238
112/01/11 |23 Z= Bk 500 |112E100000090 00010908
112/01/11 |BBZ=m Z= B 300 |112E100000091 00010909

EHRIAZEREIBER

92 - ! 238 238

112/01/11 |=1EH5 Z= B 1000 |[112E100000092 00010910
EHRIAZEREIBER

93 . ! 238 238

112/01/11 |EXXE Z= Bk 500 |112E100000093 00010911
EREIAZERRIBR

94 i X 238 238

112/01/11 |&i155 Z= Bk 1200 |(112E100000094 00010912
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112/01/11 |# &5, Z= 8k 1000 |112E100000095 00010913
9% EHEIABZEXREEM 238 238
112/01/11 |BBHIER Z= 8k 1000 |112E100000096 00010914
112/01/11 |#EEE Z= 8k 1000 |112E100000097 00010915
98 EHEIABZEREEM 238 238
112/01/11 |#REBEF Z= 8k 1000 [112E100000098 00010916
99 EHEIABZEREEM 238 238
112/01/11 |R#4E Z= 8k 1000 [112E100000099 00010917
EHEIABZEREEM
100 238 238
112/01/11 |0 Z= Bk 2000 |112E100000100 00010918
= y =Rl A ESED
112/01/11 |BIZEHN Z= Bk 1000 (112E100000101 00010919
EHEIABZEREEM
102 238 238
112/01/11 |5EFE Z= 8k 300 |112E100000102 00010920
ERRIAZEREIER
103 N \ 238 238
112/01/11 |ZBESE = 1000 (112E100000103 00010921
104 ERRIAZEREIER 238 238
112/01/11 |BE=EMt | F=E 600 |112E100000104 00010922
ERRIAZEREIER
105 - \ 238 238
112/01/11 |&EZHE4 = 500 |112E100000105 00010923
ERRIAZEREIER
106 3 238 238
112/01/11 |ZE=14 = 1000 |[112E100000106 00010924
ERRIAZEREIER
107 238 238
112/01/11 |EFH =3 500 |112E100000107 00010925
ERRIAZEREIER
108 238 238
112/01/11 |R&HFE Z= Bk 900 |112E100000108 00010926
ERRIARZEREIBR
109 . 238 238
112/01/11 |22 K0 Z= B 900 |112E100000109 00010927
EHRIARZEREIBR
110 . ' 238 238
112/01/11 |#K;HUED Z= Bk 500 |112E100000110 00010928
e =R = E| 12 =4
112/01/11 |F1a%E Z= Bk 5000 |112E100000111 00010929
EHRIARZEREIBER
112 238 238
112/01/11 |GBEER Z= B 200 |112E100000112 00010930
EHRIAZEREIBER
113 238 238
112/01/11 |FET0 Z= Bk 3000 |112E100000113 00010931
EHRIAZEREIBER
114 238 238
112/01/11 |ZE& Z= B 200 |112E100000114 00010932
o = R wan SAESB=EZ
112/01/11 |E1FE35 Z= B 1000 (112E100000115 00010933
o = R wan ISAESR=EZ
112/01/11 |[3EIEHMA Z= B 1000 |[112E100000116 00010934
o = R wan SAESB=EZ
112/01/11 |&ERE Z= Bk 1000 |112E100000117 00010935
EREIAZERRIBR
118 . ' 238 238
112/01/11 |5k Z= Bk 300 [112E100000118 00010936
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119 N \ 238 238
112/01/11 |ZPER Z= 8k 1000 |112E100000119 00010937
EHEIABZEXREEM
120 ot nen \ 238 238
112/01/11 |AhsEoh Z= Bk 600 [112E100000120 00010938
EHEIABZEXREEM
121 238 238
112/01/11 |F 5= Z= Bk 300 [112E100000121 00010939
ERRIARZEREIER
122 e 238 238
112/01/11 |FFEH Z= 8k 500 |112E100000122 00010940
112/01/11 |REE Z= Bk 300 |112E100000123 00010941
ERRIARZEREIER
124 _ 238 238
112/01/11 |F2= Z= Bk 300 [112E100000124 00010942
ERRIARZEREIER
125 . 238 238
112/01/11 |FERiE Z= 8k 300 |112E100000125 00010943
53—: Ez' —_ = y =Nl = E]+=2 %
112/01/11 Eﬁ Z= Bk 300 |112E100000126 00010944
ERRIAZEREIER
127 238 238
112/01/11 |=HIR Z= Bk 500 |112E100000127 00010945
ERRIAZEREIER
128 238 238
112/01/11 |BREK Z= Bk 1000 [112E100000128 00010946
ERRIAZEREIER
129 238 238
112/01/11 |ZEHaE Z= &t 1000 |[112E100000129 00010947
ERRIAZEREIER
130 238 238
112/01/11 |&&5: = 300 |112E100000130 00010979
IR E |EHALZEXRERBENE
131 i b \ 238 238
112/01/11 |EREIRF Bk 300 |112E100000131 00010985
EHIBRZERXRBEIBIE
132 . 238 238
112/01/11 |;&mI5 ek 600 |112E100000132 00010986
=0 = EE 1S A
112/01/11 |&ERRHA Bk 300 |112E100000133 00010987
2|13 BT ERE IR
112/01/17 |ZEBHE &k 2000 |112E100000134 00011065
B BT ERBEIBRE
135 . 238 238
112/01/18 |FiNE &k 500 |112E100000135 00011094
B BT ERBEIBRE
136 238 238
112/01/18 |FF</E Bk 500 |112E100000136 00011095
#1E-LINE Pay/ RZE
137 o 238 238
112/01/19 |=B%= X EIEAZERL 100 |112E100000137 00011043
B BT ERBEIBIE
138 _ 238 238
112/01/30 |#BAFHY &k 200 |112E100000138 00011103
RE/IBZERXRBEIBIE
139 238 238
112/01/30 [EEEE &k 5000 |112E100000139 00011098
EHRIAZEREIBER
140 238 238
112/01/30 |{ZsN#: Z= Bk 300 |112E100000140 00011076
EHRIAZEREIBER
141 238 238
112/01/31 |BR & Z= Bk 2000 [112E100000141 00011074
EREIAZERRIBR
142 . 238 238
112/01/31 |EBKIZ Z= Bk 1000 |112E100000142 00011075
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112/02/03 |FRES /L) Z= Rk 5000 |112E100000143 00011111
3|45y h R S E {2 A
112/02/04 |sRAEH Bk 500 112E100000144 00011217
145 #338-LINE Pay/E:& 1R 238 | 238
112/02/06 |#1mE EMEZERE (@) [500 |112E100000145 00011445
1238 20 B 52 18 2%
112/02/07 <& Bk 1000 |112E100000146 00011218
AE-EHERIAZLER
147 N \ 238 238
112/02/08 |AEE EiE Tﬁ%rék 300 |112E100000147 00011441
SR =Ea]
112/02/10 [BlaEE B 3600 |112E100000148 00011449
ERXE | RE/SZERBEBEIRSE
149 238 238
112/02/10 [3462ithE& Bk 1720 |112E100000149 00011450
N SR =Ea]
112/02/10 [BlaEE Jék 8400 [112E100000150 00011451
= :|:/7
112/02/10 |ZEFREE f‘ﬁ 500 112E100000151 00011219
PRIREIRE |CEH/ AMLEXREBUE
152 e P 238 238
112/02/10 [EFRIAE J‘Ek 300 112E100000152 00011460
_/7
112/02/10 [ERIS J‘Ek 600 112E100000153 00011461
_/7
112/02/10 [EfR1a quk 300 112E100000154 00011462
HIB-ERERIALER
155 sy o 238 238
112/02/10 |#=% EE T Z R 300 |112E100000155 00011446
ERAFRLEREBMR
156 s 238 238
112/02/13 [uAlE fﬂ 500  [112E100000156 00011317
= :|:/7
112/02/13 |[&F& f‘ﬁ 300 112E100000157 00011318
ERAFRLEREBMR
158 238 238
112/02/13 [BR5EFAB Z= 6k 800 112E100000158 00011319
ERAFRLEREBMR
159 — 238 238
112/02/13 (&It f‘ﬁ 100 112E100000159 00011320
= :|:/7
112/02/13 |=&E= 7'7‘:<J€k 1000 |112E100000160 00011321
ERAFRLZEREBMR
161 238 238
112/02/13 |5RIBE 7'7‘:<J€k 2000 ([112E100000161 00011322
= :1:/7
112/02/13 |82 7'7‘:<J€k 300 112E100000162 00011323
ERAFRLZEREBMR
163 . 238 238
112/02/13 |2|Ei18 =R 1000 |112E100000163 00011324
ERAFRLZEREBMN
164 e 238 238
112/02/13 |EIE= 7'7‘:<J€k 300 112E100000164 00011325
= :1:/7
112/02/13 (BB 7'7‘:<J’5k 300 112E100000165 00011326
EHAFRLZEREBMR
166 238 238
112/02/13 |#I7KA] Z= ik 300 |112E100000166 00011327
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167 \ 238 | 238

112/02/13 |EB# Z= Rk 300 112E100000167 00011328
= y =Rl CACSESED

112/02/13 |524nEE Z= Rk 300 112E100000168 00011329
= y =Rl CACSESED

112/02/13 |BEshi® Z= Rk 300 112E100000169 00011330
= y =Rl CACSESE

112/02/13 |EBE Z= Rk 200 112E100000170 00011331
= y =Rl CACSESE

112/02/13 |=H Z= 6k 300 112E100000171 00011332
= y =Rl A RSE

112/02/13 |=H#E) Z= Rk 300 112E100000172 00011333
= y =Rl A ESED

112/02/13 |Z=1{ml i Z= Bk 500 112E100000173 00011334
= y =Rl A ESED

112/02/13 |ZiRE Z= Rk 1000 |112E100000174 00011335
e y=Remi=—=E= ol Ea=F-"l

112/02/13 |=;il#9 Z= 6k 300 112E100000175 00011336
e y=Remi=—=E= ol ="l

112/02/13 |EBEU0 Z= Rk 300 112E100000176 00011337
e y=Remi=—=E= ol Ea=F-"l

112/02/13 |ZF33%5 Z= Rk 1000 |112E100000177 00011338
e y=Remi=—=E= ol Ea=F-"l

112/02/13 |FR4CHR Z= Rk 500 112E100000178 00011339
e y=Remi=—=E= N ="l

112/02/13 |$EriE Z= Rk 300 112E100000179 00011340
e =R = E 12 =4

112/02/13 |BRFIE Z= Rk 1000 |112E100000180 00011341
e =R = E| 12 x4

112/02/13 |=fffe Z= Rk 300 |112E100000181 00011342
e =R = E| 12 =4

112/02/13 [EH4B Z= 6k 500 112E100000182 00011343
e =R = E| 12 =4

112/02/13 |&F Z= Rk 1000 |112E100000183 00011344
ERFISHZEXRBEIER

184 238 238

112/02/13 |5REZ Z= ik 300 |112E100000184 00011345
o = R wan SAESB=EZ

112/02/13 |ZHE% Z= 6k 1000 |112E100000185 00011346
o = R wan ISAESR=EZ

112/02/13 |EREEST =R 1000 |112E100000186 00011347
o = R wan SAESB=EZ

112/02/13 |EXF Z= ik 300 |112E100000187 00011348
o = R wan ISAESR=EZ

112/02/13 [IBIHE Z= 6k 1000 |112E100000188 00011349
o = R wan SAESB=EZ

112/02/13 |ExE Z= Bk 500 112E100000189 00011350
o S s ISAESR=EZ

112/02/13 |ZIE7 = 500 |112E100000190 00011351
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112/02/13 |2|&F) Z= Rk 200 112E100000191 00011352
= y =Rl CACSESED
112/02/13 [I154% Z= Rk 500 112E100000192 00011353
= y =Rl CACSESED
112/02/13 |=F+ER Z= Rk 1000 |112E100000193 00011354
EHRRIBZEREEN
194 e \ 238 238
112/02/13 |%E & Z= Rk 100 112E100000194 00011355
= y =Rl CACSESE
112/02/13 |[#RINfZ2 Z= Rk 300 112E100000195 00011356
= y =Rl A RSE
112/02/13 |&x<F ek Z= Rk 500 112E100000196 00011357
= y =Rl A ESED
112/02/13 |#E83g Z= Rk 600 112E100000197 00011358
ERRIBZEREEN
198 238 238
112/02/13 |#ELW Z= Rk 500 112E100000198 00011359
e y=Remi=—=E= ol Ea=F-"l
112/02/13 [KE&ES Z= Rk 500 112E100000199 00011360
e y=Remi=—=E= ol ="l
112/02/13 |30 & Z= Rk 1000 |112E100000200 00011361
ERFISBZEREIER
201 - 238 238
112/02/13 |=¥ Z= Rk 500 112E100000201 00011362
ERFISBZERBEIER
202 N , 238 238
112/02/13 [HAZ0E Z= Rk 500 112E100000202 00011363
e y=Remi=—=E= N ="l
112/02/13 |[fJ%FZ Z= Rk 500 112E100000203 00011364
e =R = E 12 =4
112/02/13 |f#&k/x Z= Rk 500  |112E100000204 00011365
e =R = E| 12 x4
112/02/13 |FRIIF Z= Rk 500  |112E100000205 00011366
ERFISBZEXRBEIER
206 e e s 238 238
112/02/13 |EEGR Z= Rk 300 112E100000206 00011367
ERFISBZEXRBEIER
207 . s 238 238
112/02/13 [=#K Z= Rk 300 112E100000207 00011368
e =R = E| 12 x4
112/02/13 |Pk3EE= =R 1000 |112E100000208 00011369
o = R wan SAESB=EZ
112/02/13 |F& Z= ik 300 |112E100000209 00011370
ERFISZEXRBEER
210 238 238
112/02/13 |5 Z= ik 800  |112E100000210 00011371
ERFISZEXRBEER
211 — 238 238
112/02/13 |=ESE =R 600 112E100000211 00011372
o = R wan ISAESR=EZ
112/02/13 |BRBE Z= ik 300 |112E100000212 00011373
o = R wan SAESB=EZ
112/02/13 |EEl&E& Z= Bk 500 112E100000213 00011374
o S s ISAESR=EZ
112/02/13 [E7KL Z= Bk 500 112E100000214 00011375
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112/02/13 |RiES Z= Rk 500 112E100000215 00011376
= y =Rl CACSESED
112/02/13 |FEREE Z= Rk 500 112E100000216 00011377
217 EHUEA |EAFAREREER 2a6 | 238
112/02/13 [FR/AE] Z= Rk 500 112E100000217 00011378
B/UNZEY [ERHFBZEXREER
218 " \ 238 238
112/02/13 |= Z= Rk 600 112E100000218 00011379
= y =Rl CACSESE
112/02/13 |ER&EE Z= Rk 300 112E100000219 00011380
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